Software Development

Unit 3 Outcome 2 Advice
SCREEN RESOLUTIONS

The device used in U3O2 is the Palm Treo 650, which has a square 320 pixel 45mm display.  Your PC monitor, however, should not use the same sizes!

	
	Treo
	Typical 17” monitor

	Horizontal pixels
	320
	1024

	Physical width (inches)
	1.8
	13.6

	Therefore, Pixels per inch
	177
	75


Therefore the Treo screen has 2.36 times the resolution of a typical PC monitor.

Therefore the 45mm Treo screen is equivalent to 45mm x 2.36 = 106mm of monitor space.
Therefore, when programming onscreen, everything should be about 2.36 times larger to correspond with the equivalent size on the Treo screen.  

E.g. set your VB form size to 755 pixels square, or 106 mm. 
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